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(DChoose the correct answer for the following:

1. The strongest acid is:

OH OH OH OH
HsC CH CH3 NC CN
CH3 3 3
A) ©/ B) C) D)
CHs CHg CN

2. Which one from the following is an example of vinyl alcohol?

A) Ho X B)M C) HO\/\ S

OH
OH //
3. The IUPACnhame for the following structureM is:
A) 1-Pentyne-4-ol B) 4-Hydroxy-pent-1-yne
C) 4-Pentyne-2-ol D) 2-Hydroxy-pent-4-yne

4. Which of the followingcompounds is a secondary (2°) organic halide?

cl Br
A) /K{/ B) C) )\/\ D) CHsl

SR
5. The common name for this compound is:

A) Styrene B) Anisol C) Aniline D) Toluene

6. Which of the following compounds has the lowestboiling point?

A) Pentane B) Butyl methyl ether C) Pentanol D) Pentyl bromide

7. Which of the following compoundswill not react with (NaOH)?

OH OoH OH oH
NO, CHg




8. The correct IUPAC name for the following compound

/
Br Clis:
A) m-Bromo-m-chloro styrene B) m-Chloro-m-bromostyrene
C) 3-Bromo-5-chloro styrene D) 5-Bromo-3-chloro styrene

9.Which of the following compounds can be considered as a glycol?

oH OH OH N
A B o N D OH OH

10. The boiling points increase in the order of:
A) CH3Br < CH;Cl < CH3F< CHa3l B)CH3F < CH3Cl < CH3Br < CHal

C) CHjsl < CH3F< CH;3Cl< CHsBr D)CH3C| < CH3Br < CH3F < CH3l

11. The correct IUPAC name of the following compound

Br
X

OCH,CH3; .
A) 6-Bromo-5-ethoxy -3-octene
B) 3-Bromo-4-ethoxy-5-octene
C) 6-Bromo-6-ethyl-5-ethoxy-3-hexene
D) 1-Bromo-1-ethyl-2-ethoxy -3-hexene

12. Which of the following compounds is not aromatic?

@) ® N
A)@ VAN o | D) |||




13. Which of the following compoundscan’t react with CrO3?

A B ~"OH o ~p D) QOH

OH OH

14. Which of the following compounds is the most soluble in water?

OH OH OH
OH OH OH
A) O B) C) D)
OH OH
OH

15.The correct structure of Salicylaldehyde is

O H HO._O CHs N
OH OH OH OH
A) B) C) D)

16. What is the correct reagent could be used in the following reaction?

@CHZCHZCH3 L @COOH

A) Os, then Zn,H,0 B) KMnO, C) LiAlH, D) H,S04/SO3

17. What is the correct condition for the following reaction?

Br Br
? 7
Br
A) Br, / FeBrs B) Br, / A|C|3 C) Br, /CC|4 D) Brs /Hzo

18. The Bromine (-Br) as a substituent on the benzene ring can be effected toward the
electrophilic aromatic substitution reactions, as:

A) Activating and O- / P- director
B) Activating and m- director

C) Deactivating and O- / P- director
D) Deactivating and m- director




19. Whichis the correct reagent could be used in the following reaction?

CH,CH,OH ~  CHCH,CI
A) Cl,/ UV light B) SOCI, C) Cl,/FeCl; D) CH;MgCl
20.Which is the correct reagent for the following reaction?
7?7

\/YO . . \/\/OH

OH
A) LiAlH, B) H2SO4/SO3 C) KMnOg4 D) KOH

IIl) Choose the major product of the following reactions
21.

2 HCI

CH;CH,-C——= C-H > 5
A) 1,2-Dichlorobutane B) 1,4-Dichlorobutane
C) 1,1-Dichlorobutane D) 2,2-Dichlorobutane
22.

?

CH3 CHzBr Br CH3
W O o O o o T

Br
23.
?
CH,OH CH,K CH,OK CH,Br
OH
A) B) C) D)
(@)
6/ C,HsOH_
OC,Hs OH OC,Hs OH

vO- oD o0 o0
24.




25.

+
N,Cl

© H;O" / Heat o ?

Cl NO, OH
A) © B) © C) D) ©
26.
?
O OH
o
OH OH
O W :
27.
OH
H,SO,/HNO,
e ?
OH OH
O2N NO, NO,
OH OH OH
NO» NO,
C) : D)

NO,

NO,




28.

C) 70 D) V)LO/\ /
(@]
29.
‘ MCPBA o
CH,Cl, o
is:
OH “\\\\OH OH
A) B) C) D)
OH OH X,
Q/MgCI
1)
0 > ?
30. N ko
OH
A) B)
OH
C) % 7
Best Wishes




